
2.3 – Addition & Subtraction Math 111 
of Matrices    Warnock - Class Notes  
     
We can use matrices to organize data. 

 
We could create a table to organize this data: 

  Bread  Milk 
Peanut
Butter

Cold 
Cuts 

Store I  88 48 16 112 
Store II  105  72  21  147 

Store III  60 40 0 50 
 

And likewise, if we want to do “math” with this information, we can organize it 

into a Matrix. 

88 48 16 112
105 72 21 147
60 40 0 50

M

 
 
 
 
  

  

Matrices are named with ________________ __________________. 

Matrices are classified by _________, by the number of ________ & _____________. 

The above matrix has ______ rows and ______ columns, so it is called ___________. 

A matrix with m rows and n columns is called an  _______ ____________. 

A matrix with 1 row is called a _____  ____________.  (dimension would be                  ) 

A matrix with 1 column is called a __________  ____________.  (dimension:                  ) 

A matrix with the _________ number of ______ & _____________ is a ____________ 

matrix. 

Two matrices are _______________ if they are the same __________ and the 

corresponding ____________________ are ______________. 



 #1.    Name the size of each matrix, and any special classification is has. 

a) 

1 2 3
4 5 6
9 8 7

 
 
 
 
 
 




        c)  
10 3
4


 
 
  

 

 

b) 

5 2
3 7
4 5

1 0

 
 
 
 
 
 
  




          d)  

0.3
0.1

2.4

 
 
 
 
  

  

 

 #2.   Determine the values of the variables that make the matrices equal. 

a) 

3 5 7
1 2 3
4 6 104 2 10

x y z
a b c

d

   
   
   
   
     




 

 

b) 

2
1

0

x
y

 
  
  
      

   

The sum of two matrices X & Y (must be the same _______________,  __    __ ) is the 

Matrix  X+Y where each element is the sum of the corresponding elements of X & Y. 

 #3.   Find the sum, if possible. 

a) 
2 3 7 4
1 5 4 1

   
   
      

   


 

 

b) 
3 2 2 1 0&
1 5 0 2 0

   
   
      


 



 #4.   Let’s readdress the original problem given. 

 

 

 

 

 

 

 

 

 

 

 

 

 

The difference of two matrices X & Y (must be the same _______________,  __    __ ) 

is the Matrix  X‐Y where each element is found by subtracting the corresponding 

elements of X & Y. 

88 48 16 112
105 72 21 147
60 40 0 50

M

 
 
 
 
  





 #5.   Subtract each pair of matrices. 

a) 
3 5 7 5 3 1
2 4 6 6 4 6

   
   
      

 
    

 

 

b) 

1 2
7 8 93 4 &

10 11 125 6

 
   
   
      

 

 

 


